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SEMMOME | EMmES | 021D0094 BT % \ FEH]2 | FrEMh [ A AL — ] H
. SIERHO FinlZBET 51 SUERIHRA
ﬁﬁg TREOBBOESILADKRES TREOHBEEILADKRES TREOBBOSILADKRES TREDHEBSSLADKRES
; 100kN/mM%# 8% % - -~ - -|3mZEBZS -~ - - -| 100kN/m%#8Z% % - -~ - -|3mEBZD -~ - -
ZFhLs - -~ - - Fhst -~ - - - Zh s - -~ - -| 2Rt -~
2 100kN/mM%#BZ % - -~ - -|3mZEBZS -~ - - -| 100kN/m%#8Z% % - -~ - -|3mEBZD -~
LS - -~ - - Fhst -~ - - - Zh s - -~ - -| 2Rt -~
3 100kN/mM#%# 8% % - -~ - -|3mEBZD| 000 ~ 0.12] 314 16.78 | 100kN/i%&#8 2% - -~ - -|3mZE#BRB| 1000 ~ 1480 | 3.14 16.78
zhnst 1.00 ] 000 ~ 530 66.10 | Thst | 012 ~ 530 3.00 16.05 Zzh st 1.00 | 5.00 ~ 1450 66.10 | =ns | 5,00 ~ 1000 | 3.00 16.05
4 100kN/mM#%#BZ % - -~ - -|3mEBZD| 000 ~ 0.72| 4.54 23.22 | 100kN/m%#BZ % - -~ - -|3mERBZB| 500 ~ 14.80 | 4.54 23.22
Zhst 1.00 | 000 ~ 204 17.55 | Fhst | 072 ~ 204 3.00 16.05 ZThLLS 1.00 | 500 ~ 1480 17.55 | =St | 5,00 ~ 5.00 | 3.00 16.05
5 100kN/mM#%# 8% % - -~ - -|3mEBZD| 000 ~ 009 310 16.60 | 100kN/i%#8 2% - -~ - -|3mZE#BRB| 1000 ~ 1260 3.10 16.60
Zhnst 1.001 000 ~ 497 61.88 | Thst | 009 ~ 497 3.00 16.05 ZThLLS 1.00 | 5.00 ~ 1260 61.88 | =St | 5,00 ~ 1000\ 3.00 16.056
6 100kN/mM#%# 8% % - -~ - -|3mEBZD| 000 ~ 0356 347 18.57 | 100kN/i%#8 2% - -~ - -|3m%zi#BZB| 1000 ~ 1201|347 1857
ZzhLst 1.00 ] 000 ~ 315 40.31 | #hst | 036 ~ 515| 3.00 16.05 ZThLLS 1.00 | 500 ~ 1201 40.31 | #hst | 5,00 ~ 1000 | 3.00 16.05
- 100kN/mM#%#8Z % - -~ - -|3mEBZD| 000 ~ 021] 321 17.16 | 100kN/i%&#8 2% - -~ - -|3mE#BZB| 1500 ~ 1770 3.21 17.16
ZznLst 1.00 | 0.00 ~ 6.92 87.61 | TnLs | 021 ~ 692300 16.05 Zzh st 1.00 | 6.00 ~ 17.70 87.61 | #hst | 5.00 ~ 1500 3.00 16.05
P 100kN/mM##BZ % - -~ - -|13mZEBZ 3| 000 ~ 025] 351 17.70 | 100kN/m%}BZ% - -~ - -|3mE#BZB| 1000 ~ 1261|331 17.70
LS 1.001 000 ~ 397 49.81 | #Fhbst | 025 ~ 397|300 16.05 zhst 1.00 | 5.00 ~ 1261 49.81 | =St | 5,00 ~ 1000 | 3.00 16.05
9 100kN/mM##BZ % - -~ - -|3mZEBZ 3| 000 ~ 032 341 18.22 | 100kN/m%{BZ% - -~ - -|3mE#BZB| 1000 ~ 1261|341 18.22
zh s 1.00 | 0.00 ~ 354 44.73 | TS | 082 ~ 3.54| 3.00 16.05 Zhs 1.00 | 5,00 ~ 1261 44.73 | ThES | 500 ~ 1000 5.00 16.05
10 100kN/mM##BZ % - -~ - -|3mZEEZS -~ - - -| 100kN/mi%#EZ % - -~ - -|3mEEZD -~
ZzhLst - -~ - -| =hst -~ - - - zhst - -~ - -| En LS -~
17 100kN/mM##BZ % - -~ - -|3mZEEZS -~ - - -| 100kN/m%#EZ % - -~ - -|3mEEZ D -~
zhst - -~ - -| =hst -~ - - - zhst - -~ - -| En LS -~
12 100kN/mM##BZ % - -~ - -|3mZEEZS -~ - - -| 100kN/mi%#EZ % - -~ - -|3mEEZD -~
ZzhLst - -~ - -| =hst -~ - - - zhst - -~ - -| En LS -~
19 100kN/mM%#EZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/m%#BZ % - -~ - -|3mEHEZ D -~
LS 1.00 | 0.00 ~ 628 78.94 | #FnLS | 000 ~ 628|202 10.81 ThLLst 1.00 | 500 ~ 851 78.94 | TS | 500 ~ 851|202 10.81
14 100kN/mM%#EZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/m%#BZ % - -~ - -|3mEHEZ D -~
LS 1.00 | 000 ~ 4.04 50.66 | FnLst | 0.00 ~ 404|206 11.04 ThLLsh 1.00 | 5.00 ~ 5.00 50.66 | Tnst | 5,00 ~ 5.00 | 2.06 11.04
15 100kN/mM%#EZ % - -~ - -|3mZEEZ S -~ - - -| 100kN/mi%E#BZ % - -~ - -|3mEHEZ D -~
ZznLst 1.00 | 0.00 ~ 5.02 62.61 | NS | 000 ~ 0.00] 1.62 8.68 Zzh st 1.00 | 5.00 ~ b6.50 62.61 | =nLSN | 5,00 ~ 5560 | 1.62 8.6’8_
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BH3—2 BEMCERTSLEESNOEHRICEYTBEE/2) _ _ _ _ REFE k195 S
SEMMOME | EMmES | 021D0094 BT % \ FEH]2 | FrEMh [ A AL — ] H
. SIERHO FinlZBET 51 SUERIHRA
ﬁﬁg TREOBBOESILADKRES TREOHBEEILADKRES TREOBBOSILADKRES TREDHEBSSLADKRES
5 R 4 ﬁ%{ ‘Fﬁrﬁb\(?)@ﬂﬁ%ﬁ jj(g')\lj/kn%é X 4 ‘Fﬁﬁ*ﬁﬁg\%zg;kﬁ ‘(.%r‘n%< jj(g')\;tnié X 4 ;.g,r'na; J:ﬁﬁ;ﬁ\(ﬁ)(btl:% jj(gi;tnié X 4 J:ﬁn*m\(i)wtt%' z.%r‘n? t(gifn?)é
16 100kN/mM%# 8% % - -~ -|3mZEBZS -~ - -| 100kN/m%#8Z% % - ~ -|3mEBZD ~ -
ZhnLs 1.00 | 000 ~ 521 64.95 | =nLS | 000 ~ 521|173 9.24 Zzh st 1.00 | 6.00 ~ 5.60 64.95 | =nLS | 5,00 ~ 560 |1.73 9.24
17 100kN/mM%#BZ % ~ -|3mZEBZB| 000 ~ 037] 394 21.10 | 100kN/m%E#BZ % ~ -|3mZEEAS| 5,00 ~ 800 | 3.94 21.10
ZhnLs 1.00 | 000 ~ 127 6.44 | TnLN | 037 ~ 1.27] 300 16.05 Zzh st 1.00 | 6.00 ~ 8.00 6.44 | TN | 5.00 ~ 5.00 | 5.00 16.05
19 100kN/mM#%# 8% % ~ -|3mERZD ~ -| 100kN/mMi%# B2 % ~ -|3mZEEZD ~
zhnst ~ Zhn s ~ Zzh st ~ zhnLst ~
19 100kN/mM#%#BZ % ~ -|3mERZD ~ -| 100kN/mMiZ# B2 % ~ -|3mEEZD ~
Zhst ~ Zhn s ~ Zzh st ~ zhnLst ~
20 100kN/mM#%# 8% % ~ -|3mERZD ~ -| 100kN/mMi%# B2 % ~ -|3mZEEZD ~
Zhnst ~ Zhn s ~ Zzh st ~ ZzhnLst ~
27 100kN/mM#%# 8% % ~ -|3mERZD ~ -| 100kN/mMi%# B2 % ~ -|3mZEEZD ~
ZzhLst ~ Zhn s ~ Zzh st ~ ZzhnLst ~
29 100kN/mM#%#8Z % ~ -|3mERZD ~ -| 100kN/mMi%# B2 % ~ -|3mZEEZD ~
zhnst ~ Zhn s ~ Zzh st ~ zhnLs ~
23 100kN/mM##BZ % ~ -|3mZEEZS ~ -| 100kN/mi%#EZ % ~ -[3mZEEBZS ~
ZzhLst ~ zhLs ~ zhst ~ zhLs ~
Py 100kN/mM##BZ % ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -[3mZEEBZS ~
zhst ~ zhLs ~ zhst ~ zhLst ~
95 100kN/mM##BZ % ~ -|3mZEEZS ~ -| 100kN/mi%#EZ % ~ -[3mZEEBZS ~
LS 1.00 1 000 ~ 699 88.63 | #hLlst | 0.00 ~ 699 1.90 10.15 ZThLLS 1.00 | 5.00 ~ 9.09 88.65 | #nst | 500 ~ 9.09 | 1.90 10.15
26 100kN/mM##BZ % ~ -|3mZEEZS ~ -| 100kN/m%#EZ % ~ -[3mZEEBZS ~
LS 1.001 000 ~ 477 5941 | #nst ooo ~ 477|1.76 9.40 ZThLLS 1.00 | 5.00 ~ 5.00 59.41 | NS | 5.00 ~ 500|176 9.40
100kN/mM##BZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEEZD ~
ZzhLst ~ zhLs ~ zhst ~ zhLst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
LS ~ ZN LS ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
LS ~ ZNLS ~ ThLLsh ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ Zh Lo ~ Zh LS ~
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